When x =4, (d—y=]—2
dx

Gradient of normal = %

Whenx =4,y= -3
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3==(x-4
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M1 for attempt to differentiate (so
therefore answer of the form
gy = L 3) and A1l for correct

dx  J/x

derivative

Correct value of :_y

X

Follow through their evaluated j—y
X

Correct y coordinate, accept

equivalent forms

Correct method for equation of

straight line through (4, their

evaluated y), any non-zero gradient

Correct equation in required form i.e.

k(x—2y—-10) =0 for integer k.

AQ if “+c”

oe

Must be processed
correctly

Must have =0




Question

Answer

Marks

AO

Guidance

[7]




